








Find the missing ONE (?)

(A) 20

(B) 28

(C) 24

(D) 32
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8 15 9

24 9 15

32 12 ?



Find the ODD (?)

(A) 96 , 30 

(B) 84 , 40

(C) 72 , 50

(D) 68 , 60
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Find the missing ONE (?)

INDIAN = OJFKOB

COUPLE = ?

(A) PDWRFM

(B) IKDWRUR

(C) PDWRFN

(D) IKDWRUY
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Find the missing ONE (?)

(A) 42

(B) 38

(C) 54

(D) 66
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Find the missing ONE (?)

DK : 7 :: HX : ?

(A) 12

(B) 14

(C) 16

(D) 18
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Find the SQUARE (?)

(A) 23

(B) 25

(C) 24

(D) 22
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Find the missing ONE (?)

(A) 76

(B) 74

(C) 80

(D) 78
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22 14 32

12 28 16

30 18 24

90 60 ?



Statements:

A few balloons are not toys.

All toys are bear.

No bear is wild.

Conclusions:

No wild is a toy.

No balloon is wild.

EXAMPLE

कथन: 
कुछ गुब्बारे खिलौने नह ींहैं।

सभ खिलौने भालू हैं।

कोई भालू जींगल नह ीं है. 
ननष्कर्ष: 
कोई वाइल्ड टॉय नह ीं है।

कोई बैलून वाइल्ड नह ीं है.



Find the Odd (?)

(A) Tellurium / टेलू्यररयम

(B) Francium / फ्ाींनसयम

(C) Strontium / स््टो ींनटयम

(D) Scandium / स्कैं नियम



Find the option which should replace (?)

13 : 338 :: 14 : ?

(A) 329

(B) 368

(C) 392
(D) 386



Find the option which should replace (?)

SHOULD : ITFLEM :: REALLY : ?

(A) FSNZZM 

(B) FSOZYM

(C) FSOZZM
(D) FSOOZM



Find the option which should replace (?)

(A) I

(B) L

(C) F

(D) C



Find the odd (?)

(A) 24 , 168

(B) 18, 116

(C) 19 , 133

(D) 17 , 119



Find the option which should replace (?)

FK : 64 :: HS : 81 :: OW : ?

(A) 169

(B) 196

(C) 121
(D) 144



Find the option which should replace (?)

(A) 5

(B) 7

(C) 9

(D) 11



Find the option which should replace (?)

29 , 88 , 265

(A) 33 , 100 , 301  

(B) 24 , 73 , 229

(C) 31 , 93 , 280
(D) 26 , 79 , 237


